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D=¢E
B=uH
&= g, =8.85x10"*(F/m) E=E&.&,

H=Hy = 4 x107 (H/m) M= U = Ly
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& =&, =8.85x10"*(F/m) E=E&,.&

U=ty =47 x107 (H/m) M= U My = Uy
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rot

oH 0
= — 2 rot( rotE) = —u, —rotH
OE =—pp—- > (rotE) =—ps, o

rot (rotE) = grad divE —aE =-aE
O°E

0 o, oE
) o rotH = —z;, o (¢ E) =~Ho&o o

0’E
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O°E, O°E, O°E, 0°E,
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A2 2 ) 0“0 2

oX oy’ (o4 ot

2 2 A2 2
6Ey+6Ey+oEy7 \aEy,o
2 2 2 Hofo 5 =
X oy’ 0z ot

v3 2 A2 2
O°E, 0°E, O°E, o°E,

+ +—=— e, —==0
R op o2 e
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=i
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oH oH,

e ke

X
0z
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rotH =0 0

0 H,
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1 Fuxy 2 L AaU=—ZuM

v ot? Bl | AV

Ju(xt) 1 a%u(xt) % X ®°
u(xt) _ 1 o°u(x, — O
o Vot . U (X) € 4

Au(x,y,zt)=

k=+ji=+2
\

U(x)=U,e ™ +U, e

u(x,t) =u’(x—wvt) + u (Xx+vt)
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0’E
0z°

E, = f(z—ct)+ f,(z+ct)

O°E,
~ Moo e 0

X

H, :ni{ f(z—ct)— f2(2+ct)} E, = fi(z—ct)+ f,(z+ct)
o
Z—Ct = constant

8
=3x10°(m/s) Z=constant + ¢

CcC=

1
\ Hofo

Ho @ =C
7o =, | =376.6=1207
ECI
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E = f(z—ct)+ f,(z+ct)

y

H :ni{ f,(z—ct)— f,(z+ct)}

= A cos(wt —kz) + A, cos(wt + kz)
ot — kz = aconstant
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E(x,t) = eE, cos(k - X — wt)

K-X-ot
K-r=a+ot
t=1t,
k-r=a+ot,

r
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E(x,t) =eYE, cos(k - X — mt)

divE(r,t)=0
0 oE, o
dve(r t) = (5 + S 5y
ox oy oz
= (elk, +ek, + €k, ) E, cos(k - — wt)
=—(e® -k)sink -r —awt)=0

e®.k=0
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divB(r,t) = —(€? -k)sin(k -r —ot) =0
e k=e?.k=0

.
rotg = 72—8
ot

o ko B
0
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